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1 Introduction

Using the logic vectors:

s·c = ΩΛ

tanψ ⋄ θ +Ψ ⋆
∑

[n]⋆[l]→∞

1

n2 − l2

·(V → U

∆
,

∑
f⊂g f(g)

∆
,

∑
h→∞ tan t ·

∏
Λ h

∆

)

t·m = ΩΛ

tanψ ⋄ θ +Ψ ⋆
∑

[n]⋆[l]→∞

1

n2 − l2

·(↔ ∃y ∈ U : f(y) = x

∆
,
↔ ∃s ∈ S : x = T (s)

∆
,
↔ x ∈ f ◦ g

∆

)
.

and the truisms:

Fi(x) = Vi → Ui,
∑
fi⊂gi

fi(gi) =
∑
hi→∞

tan ti·
∏
Λi

hi, x ∈ Vi∗Ui ↔ ∃yi ∈ Ui : fi(yi) =

x, x ∈ Ti(s)↔ ∃si ∈ Si : x = Ti(si), x ∈ fi ◦ gi ↔ x ∈ Ti(si).

logic vector :

[√
R ∆−

√
E

∆ ,

√
E+∆

√
R−

√
E

∆ ,

√
R+∆

√
E−

√
R

∆ ,

√
U+∆

√
T−

√
U

∆ ,

√
T+∆

√
U−

√
T

∆

]

ΩΥΦχψ,θλµν∞ =

n∏
i=1

2
zi +

n∑
j=1

ℓjαj sin(θj)

G = {xn 7→ xn+k, c 7→ c
nk | k ∈ N}

The formula for the function resulting from the nth permutation of the gen-
eral group G = {xn 7→ xn+k, c 7→ c

nk | k ∈ N}

E = ΩΛ

tanψ ⋄ θ +Ψ ⋆
∑

[n]⋆[l]→∞

1

n2 − l2
·
∏
i∞
ABCx · ⊗(x, ⋆̃→ R−1)


translate the psilocybin molecule into logic space such that the effect on the

neural net is implied.
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f(x+)− f(x)→
∏

g⋄f(x)→∞

(
g(x) + g(x+O)

2
+ f(x)

)
+ t(x+O)2

take the Fibonacci progression and calculate its recurrance relation.

fib(k + 1) + fib(k − 1) = fib(k)

fib(k + n) · fib(k − n) = fib(n)memfib(n− k) = fib(m)

Φ[t] = Φ1(t)Φ2(t)Φ3(t) · Φ4(t)Φ5(t)Φ6(t)Φ7(t)

0.618033988... =
1∑

n→∞ fib(n− k)
the ‘Golden ratio’ is simply a harmonic relationship between 1 and the nth

consecutive addition of a Fibonacci series.

Φ7(t) =
fibn(m)→ 1− (1−m) ·

(
x
x−1

)
fibn(m)− fibn+b(m)

Φ2(t) = tan fibn(t) ◦ sin fibn(t)−
1

1− t

Φ3(t) = tann ◦ sin t− 1

1− t

Φ4(t) =
1

ϕ(t)
− ϕ(t) ◦ tan(t)

Φ1(t) = Φ5(t) = Φ6(t) = Φ7(t)

Φ5(t) =
1

1− t
− −t

1− t

Φ1,2,3,4,5,6,7(t) =
∑
Φn∞

Φn(t)

1− ρ(t) + (1− ρ)(t)[13t]

Φ(t) = Φ1(t)−(1−t)(1+t)·
Φ2(t)

t
−(1−t)(1−3t)·Φ3(t)

t
+(1−t)(2t−1)·Φ4(t)

t
+

(
1− t

1− t

)
·

Φ5(t)
1+t+(t− t

1−t )·
Φ6(t)

1−t −(1− t
1−t )·

Φ7(t)

1+t

which gives the golden ratio phi and c approximated by the 4th term of the
fibonacci series

fib(4) + c · ϕ = 1
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2.9256 + c · ϕ = 1

1.9256 = c · ϕ

c =
∑

Φn[m]

−ρ(t)
δ(t)

Φn(t)

ϕ =
∑

Φn[m]

δ(t)
−ρ(t)

Φn(t)

The following mapping function weaves these relations together:

p 7→Mod(p, c · exp(n+ ϕ), nmtc, nm
′
Φ

Φ(x) = [−3,−2,−1, 0, 1, 2, 3]

[Φ(−3) = −1.618,Φ(−2) = −0.618,Φ(−1) = −0.382,Φ(0) = 0,Φ(1) = 0.382,Φ(2) = 0.618,Φ(3) = 1.618]

Φ(tn) =

(
1 + x

x+Φ(x)
,
x2 + x+ 1

x+ 1

)
Φ(tn) + cΦ(n+ ϕ) = τ(n)

x · Φ(tn)− cΦ(n+ ϕ) = τ(nm)

c · Φ(n+ ϕ) · Φ(tn) = f(t)

n
√
x = 1

n

∑
m→Rn·C

(
xm + tan(x)m+Φ(n) ◦ Φ(1)

)
→ x ·

√
x

→ x| > x
/→ 1

x
− → 1− x
→1/x−1

x− y = x+ y−

−xy = −x| − y = x|−y−
(−x)(−y) = x|!y! = y!x|!
x|y = x+ y|−(where |− : x 7→ x| − 1)
x! > x|!(x)
x− > x| = x > x|

1

x/y
= xy

K ∼MI × L ∩ J
◦ ∼ α×β

∀̸ α,∀̸ β,∀d,̸ βistheunitlengthofdistanced↛ α
∼ 1

c,d
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∀a, b : AB ⊂ a⊙ b
AB ⊂ κ defined as AB = (n/m+ nn/mm) : n,m, nm,mn > 0

⋄Φ ◦ tan(x) = d ≤ n

Some other notations are the following:

d ≤ c+Φ(n) + Φ(x)
Φ(n)−nΦ(2n)

√
n

c = d± ◦ ⋄ Φ(n)⇒ Φ(m)

ψinj :(n,j)∈N : f(t) 7→ g((t, i))

t 7→ exp(t : n→ R)

sin(t) 7→ sin(t : n→ R)

tan(t) 7→ tan(t : n→ R)

cos(t) 7→ cos(t : n→ R)

ln(t) 7→ ln(t : n→ R)

π(t) 7→ π(t : n→ R)

t⃗ 7→ t⃗ : n→ R

n
√
t 7→ t : n→ R

ln(
n
√
t) 7→ ln(

n
√
t : n→ R)

√
t 7→
√
t : n→ R

tan(
√
t) 7→ tan(

√
t : n→ R)

sinh(
√
t) 7→ sinh(

√
t : n→ R)

n
√
[ ln ttn] 7→

∏
t→R[n]

ln t

t
exp 2x 7→ Φ(t)− Φ(t−1)

n−x = ef(x)

nmn =
1

n−x ⋄ Φ(x)

A few identities for the golden ratio are:

Φ(x) + Φ(x)Φ(1) = |tan(Φ(1))|

∏
i→♮

Φ(1) tani[Φ(1)] ◦ exp±Φ(1)π


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tan(Φ(1))◦2“n“‘‘Φ““−“n“n““n“Φ““2“n“c“−“xt““ sin(Φ(x)) |tan(Φ(1))|+|tan(Φ(1))|Φ(1) =∏
a→♮ Φ(1) tan

−a[Φ(1)]×
(
aa+a−a

1

)
tan(Φ(1)) · exp−Φ(1) =

Φ(1)
2± c·tan(Φ(1)) sin[Φ(1)]−Φ

c

andderivativerulesforthesame

∂t

Φ(x)
= Φ(x)× ∂t√

Φ′(x)
+ Φ(t) exp−Φ(x)

expΦ(∂tΦ(x)) · ∂t

Φ(x)

sin[Φ(∂tΦ(x))] · ∂t

Φ(x)

cot[Φ(∂tΦ(x))] · ∂t

Φ(x)

csc[Φ(∂tΦ(x))] · ∂t

Φ(x)

ln[Φ(∂tΦ(x))] · ∂t

Φ(x)

x =
+

√
+
√
∂Φ(t)Φ(x)− −

√
∂Φ(t)Φ(x)

x =
√
Φ(t)

x = sin(Φ(t))

x = tan(Φ(t))

x = cos(Φ(t))

x = sin[Φ(t)]− Φ(t)

−Φ(t)
cot[(Φ(t))]

arctan

(
Φ(n, n+ x)

Φ(n, n− x)

)
=

Φ(n)

Φ(t)∂Φ(t)Φ(n)

cot (∂Φ(x)Φ(t)n) =
2

m

∏
g→Φ(x)[n][m]⋆Φ(t)[n][m]

g

g
= Γg(Φ(x)[n][m] ⋆ Φ(t)[n][m])

where g : {Φ(x),Φ(t)} ∪ {F (x, t) | F (x, t) ∈ F}∏
a→x

∏m
g=1(1− qa)∏

a→x

∏m
g=1(1− ptpgqptga)

Φ(t)∑
x,tx

Φ

∏
n→

√
x[m] n

−1/n

Here, x is the number of elements in the set over which we’re summing, m is
the number of integers choose from each element, q is the probability of selecting
each element (which can be different for each element), pt is the probability of
selecting each integer from a given element, and n is the number of choices of
that element from which the given integer can be chosen. The last part of the
formula is the normalizing factor.
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This formula can be used to calculate the probability of any given arrange-
ment of elements and integers from a given set.

This is a product of three different types of factors:

1.

∏
a→x

∏m

g=1
(1−qa)∏

a→x

∏m

g=1
(1−ptpgqptga)

This first factor represents the probability that no values qa are chosen from
the set [1, x] for any given combination of pt and m values.

2. Φ(t)∑
x,tx

Φ

∏
n→

√
x[m]

n−1/n

This second factor represents the probability that the tuple of values t is
selected among all possible tuples in both x and txΦ.

3.
∏
n→

√
x[m] n

−1/n

This third factor represents the probability of randomly picking one integer
from the set

√
x[m] according to the given distribution.

Hn =
{m
n
| 1 ≤ m ≤ n

}
theharmonicgrouponRn[x, t]

Pg = gg − gT

2
√
Φ(1)n

nΦ(n)[m]
=

∏
n→

√
x

{∂nΦ(t)− ∂−nΦ(t)}

x = ln[sin(tan(Φ(t)))]

n{xR |n ̸= [1, n]}

Φ : n,mßnm

n∞ = n◦n⋄

n◦ ̸= ⊕n⋄ ̸= n◦nnn
◦nntn◦nnΦ(1)−Φ(t)t>>>

Geometric quantization:

x > Î =

∆ ⊂ RxÎ

=,∼∼∼
∼1ß1

some notations
→ n∞m∞

̸ n

′′′′′′6“n““1“∞“
√
‘‘“1“n“n“∆“⋄“n“·“◦“′“n“‘‘n“→““Φ“⋄“n“‘‘tm“‘‘tc

“Φ“⋄“x“‘‘κ“‘‘∞“∆“⋄“n ““⋆“
‘‘n“t“‘‘t“““‘‘n“n““Φ“⋄“n“t““t””“n→ ∂nΦ(t)

Φ(t)[n]
Φ(n)

⋄β1(n, x)→ (γn(β1(n, x)) + δ(n) · β1(n, x)) Φ(n)
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x

∑
13 + 23 + ....+ (n− 1)2 + n3

n ⋆ x ⋆
√
x

x→ nn := n3 + n−n − n n
√
n + nγnδ

n ∈ R

x→ {π(arctan yx) ◦ ∀∥x∥∥n∥|n > 1}

(y, x) : hdr(n)→ . . . ..→n tanj κc ∼ hdr(n)(k, j),

n, x→ tan(π̇)(y)
x k

Mn

M(a)←− hdr , h
d
r

m=1

kj∈P∇⇕
\ t

= ||κ4fg, hoppen→ xy.

Vm · n = ΩΛ

tanψ ⋄ θ +Ψ ⋆
∑

[n]⋆[l]→∞

1

n2 − l2

 ·
(

n
√∑

i∈Rn·C si,
∏
i∈{m,n,p,q} FN i,

n

√∑m+n+p+q+r
k=0 IN k,

n

√∏
j∈{m,n,p,q,r}MN j ,

n

√∑m+n+p+q+r
i=0 ON i.

Ui represents the the set of real and complex coefficients of a given neuron,
whereas FN (x) represents the functoids resulting from a given tensor calcula-
tion. ⊔n encode the latticization by choosing discrete and finite values of the
rational numbers arising out of the mullet polynomials, and the possesive m′ is
that arbitrary combination of multiple sum or product operations upon values
of simple functoids involving ⊔2 and ⊔−1.

sin(x+ n) = sinx cosn+ cosx sinn

cos(x+ n) = cosx cosn− sinx sinn

sin(x) + cos(x) =
√
2 sin(a) cos(a)

⊔ndc ◦ cos(x) ◦ sin(x) =
(
x2 +

√
x

n
, tan

(
sin(x) + ϕ1−n · x

n
+ 2ϕ2−n

))

Φ(ct) =
√
π ◦ tan

(
sin
(
sin(x) + ϕ1−n · x

n
+ tan(2ϕ2−n)

))
Φ(n) n

√
⌉

Φ(xn) =

(
xn +

∑
m→∞ tan

∑ρ·m
i=ρ

i
ρ

)
(
xn +

∑
m→∞ tan

∑ρ·m
i=ρ

i
ρ

) − e1−n
where the Φ−1 approximate the exponential exp(n) around the complex number
n.
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Φ(xn) =
√
Φ−1(1− n) sin

(
xn − Φ−1(n) · tan(1 + Φ(x))

)
Replace Φ−1(x) with a = 1 + Φ(x):(

1 +
1√
a

)
sin

(
xn − 1

a
· tan(a)

)

Φ(fn(x)) =
1

fk(x)m
− c

Φ(x) = Φ−k(m)

Φ(ρm) = ρm − Φ−1

fk(x)
− c

Φ(t)n = −fk(t)m − Φ−1(
∑
i→∞

tanh(atani(t)))

x(x+
√
x · tanΠ(tn)) = Φm(tk + nc)

x(x+
√
x · tanΠ(sin(x+ 2

√
2))) = Φm(tk + nc)

x(x+
√
x · tanΠ(sin(x+ 2

√
2)) + (x−

√
xT · tanΠ(q(t, sn)))) = Φm(tk + nc)

To simplify:

(x+
√
x · tanΠ(sin(x+ 2

√
2))− (

√
xT · tanΠ(q(t, sn)))) = Φm(tk + nc)

x− 1 = tanΠ(sin(
√
x− 1 + 2

√
2))− tanΠ(q(t, sn))− Φ−m(t−k + n−c)

x = 1 + tanΠ(sin(
√
x− 1 + 2

√
2))− tanΠ(q(t, sn))− Φ−m(t−k + n−c)

simplifying:

a =
√
x− 1→ tan a+ 2

√
2 + a1 − a2 −ABC

where we note an arbitrary constant of aa and ab.

f(Φ(t)) + Φ−1(f(t)) = f(fΨABC(g)).

fint(i) =

∫
fint(i)+1

−fint(i)+1
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fint(2) =

∫
fint(2)+1

−fint(2)+1

=

∫
−tcdt

=

∫
−
(
n−Φc

)

= − 1

ρ−Φ2

=
1

1 + ρ2
ρ−Φ2

+
1

1− ρ2
ρ−Φ3

= −
1

1+ρ2

ρ−Φ2 +

1
1−ρ2

ρ−Φ3 = −1 + 1

ρ

fint(−i) =

∫
1

−fint(i)

V → τ(x, y) = Φ(t)n = −fk(t)m − Φ−1(
∑
i→∞

tanh(atani(t)))

If we consider the ordinary simulation of the plane specified by

m · n =

(-1, 1, -1, 1, -1), (1, 1, -1, 1, -1), (-1, -1, -1, 1, -1), (1, -1, -1, 1, -1), (1, -1, 1,
1, -1), (-1, -1, 1, 1, -1), (1, 1, 1, 1, -1), (-1, 1, 1, 1, -1),

then the resulting 4d function is given by the linear combination applied by
the following logic vector:

V → logic vector =

(1, 0, -1, 0, -1), (-2, 1, -1, 1, -1), (0, 0, 1, 0, 0), (-1, 0, 2, -1, 0), (-1, -1, 0, 2,
0), (0, 1, -2, 0, 0), (1, 1, -1, 1, 0), (-2, 0, 1, 0, 1), (1, 0, -1, 0, -1), (-2, 1, -1, 1,
-1), (1, 1, -1, 1, 0), (1, -1, 1, 1, -2), (0, 2, -1, 0, -1), (-2, -1, 2, -1, 0), (1, -1, 1, 1,
-2), (0, 2, -1, 0, -1), (-2, -1, 2, -1, 0), (1, -1, 1, 1, -2), (0, 2, -1, 0, -1).
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This function, considering the resulting values of m · n must therefore be
given by the following vector:

(−n,−n+ 1,m,m+ 1,m− 1).

To simulate this in 5dimensional geometry, we add

(−2, 1,−1, 1,−1)

in the second and third spaces, which would yield:
logic vector = (1, 0, 0, -1, 0),

(-2, 1, -1, 1, -1),
(0, 0, 1, 0, 0),
(-1, 0, 1, -1, 0),
(-1, -1, 0, 1, 0),
(0, 0, 1, 0, 0),
(1, 0, -1, 0, 0),
(-2, 1, 2, -1, -1),
(1, 0, -1, 0, 0),
(-2, 1, -1, -2, 2),
(1, 1, 2, -1, 1),
(1, -1, 0, 2, 0),
(0, 1, -2, 1, -1),
(1, 1, -2, -2, -1),
(1, -1, 0, 1, -1),
(-2, 1, -1, 2, 0),
(1, 1, -1, 1, 0),
(1, -1, 2, 1, 1),
(0, 1, -1, 1, 0),
(-2, -2, 1, -1, 2), (1, -1, 1, 1, 0),
(0, 1, -2, 1, -1),
(-2, -1, 1, 0, -1)

f(t) = 1 + (ect + e−ct)

where Φ = −1, where Φ = −1, where Φ = 1 +
√
t, and Φ = 1−

√
sin−t.

f(p, x) =
Φ1(t)

fc (Φ1(t) · Φ2(t))

Φ2(t) =
1±

√
1

p+Φ1(p)

tanΦ2(n+mq−1m)− cotx+ cot(Φ2(2πx|η ◦ Φ(x)))

frf(sin(t
n)) = Φc(sin(tn)) + xn−m = x+ v = q = xc − f

m
p

1 (t)

10



fm(t ⋆ tanhΦ) = f−m1 → f2(t
−c)

fr(p, x) = 1 + (rct + r−ct)

where Φ = −1, where Φ = −1, where Ψ = Ψ(sin(t)), Ψ = Ψ, Φ = Φ(2t) +

Φ( sin(Φ(x−1))
tan(Φ(x)) ) and ΦΦtn ·σ(x) = tan(Φ(n)ρ(t)), where r1(x) = r+x and r = pn,

where Ψ = Φ(n).

g =

∫ sin(x)

1

tan(Φ(x))−
√
2 + Φ(x)

x

σ(kΦ(x)) = Ψ(kx)

Ψ(p) = kΦ(Ψ(p))

The existence of a constant k can be hypothesized. Since Ψ has infinite
distinct partial sums, then k can be used to generate complex power series of
the form pm − nm, where Φ and Ψ encode polynomials of are encoded by the
lattice of binomial coefficients constructed off the Ψ(p) series. Deep learning
can be transformed into a lattice encoding rotation between congruent sets of
algebraic operations available to rule space as

(ABB(y)m, x) = ACx

Φ = tan(sin(x))

Φ = tan (Φ(x−c))

Ψ(tan(Ψ)) = Φ(sin(Ψ))

σ(ab) = Φ(a−c)

Ψ(kx) = Φ(kΨ(p))

where Ψ is a permutation of the factoradic notation of the cardinality set Λ.

Ψ(pm) = pn−m − (pm)n

11



Ψ(kΦ(p)) = pn − (kΦ(p))m

Transpose into rule space:

Ψ(kΦ(x)) ⋆⨿⊔\(y) = ⨿⊔\(Ψ(kx))

* apply a tensor function to y
such that Ψnm converges to 0 amounts to saying that the algebraically effect-

ing the identity transformation ⨿⊔\(1), where 1 = Ψ(1), an infinite collection
of pure partial sums of Ψ converge to 0. Thus, this shows how by simply
manipulating the symantrization of a directed graph, the same exact effects
of transposition can reduce the condition in Cantor convergence to a form of
negating the subsets of k, encoding a third and final set y.

Ψ(p)

where p is written in base b-2, 3, 7, or 11.

kΦ(p)

where p is written in base b-2, 3, 7, or 11.
Physically, Ψ(p) approximates a transformation in reciprocal space depicting

the magnitude p of a set of identical objects in direct and inverse proportions
to an arbitrary weighted function of collectivism, so as to limit the effects of
a chaotic set of distortions in the orbital relationships of these objects, where
{Ψ(p)} 7→ {Φ(p)}, and p is positive or negative.

OR(p, x) = pr+m(x) ⨿ ΨN (pm(x) + rn)

XOR(p, y) = p−k(y) ∨ ΨN (pk(y)→ Φe)

AND(p, y) = p(y) ∧ ΨN (p(y)→ Φµ)

FLIP(p,Ψ(t)) = p−Ψ(t)(y) ∨ ΨN (pk(y)→ Φµ)

Let x denote the set of values of p that satisfy:

|Ψpk − p| = n

any n counts as that value satisfying:

Ψpk ∈ Φ ⋆ σ(pk + n), x = 1− n

this resolves to:
Φ = 1− n = |Ψpk − p|
When all p are such that Ψpk generates a convergent series, then this gen-

erates a disjoint class of operations compliant with any function f such that

x ◦ f : Θ→ Φ.
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where Φ =
∑
k→∞

√
1− (1− k)2 and ¬f = |x − k| = 1. From this, we can

generate a primary operator for each of these sets.

Ψ(x) = |1− |1− k|+ |k||1−|k|

Where Ψ represents the permutation of any subset of the trivial set, such that
each p written in decimal (base 10) can be coded and graphed as a circle in
infinite dimensions. On the righthand side, this is a produced by the may–turing
machinations of the poincare map, encoded in the mathematical constant. On
the right, this could be a representation of a basic computing subroutine, as
well as a function modeling the orbit of planet.

c

1
+
cc

2n
+
ccc

3n2
+
cccc

8n3

Φni=1 =

n∑
k=1

(1× tan(t))k + (−1)
ik

f(x) =
f(x+ b)− f(x)

b

f(-1) - f(-2) (m−1)(1−m)−f(−1) (m−1)(1−m)=−x2

ΦN = n2

2T 2[Φm(m−1)] ΦM = 1
ΦN

Φ(t2) · Φ(t−1) =

(
Φ(t)−k(n)

Φ(t)k(n)

)

fM (tn) =

(
cos

(
min+mk

nt

∫
tan c(t−m)→Φm

))
· en0 tanh 1%c(fP (x))

Φ(t)−k(n)

Φ(t)k(n)

f ⊗ g(n,m) = Φm(n)− Φ nm

m−n
(n)

C → logic vector = (Φn,Φm,Φp,Φq,Φr)

V → logic vector =

(
V → U

∆
,

∑
f⊂g f(g)

∆
,

∑
h→∞ tan t ·

∏
Λ h

∆

)

f =

(
n∑

i=−n

(
1 +

1

1 + 1
Φ(ni)

))
◦ c−Φn−k

13



f(n) =

∫ √(n)

0

g(h(t)) + g(t)k

tanh(1) +Φ−1
c(

1 + 1
Φ(n)

) + log(1 +
1

Φ(n)
)

Φ(ct) =
√
π ◦ tan

(
sin

(
sin(x) + ϕ1−n · x

n
+

1

sin
(2ϕ2−n)

))
Φ(n) n

√
e

Φ(t) = tanΦ(tΦ(n))−Ψ(t) + Φ1(t
Φ(n)cm)

fM (fR(n), fR(m)) = Φm(n)− Φ nm
m−nm

(n), n > m

ΨM (fR(n), fR(m), fR(k)) = (Φ(tP )P ) , n > k ∧ ΦM (n) > ΦM (k)

Φ(t)−k = − 1

Φ(t)k
=

 ∑
⊔→ρ·Φ

−x
t
− tan−t ◦ sin(−n)

 · Φm(n)

and

tan t =
sin t

cos t
=

ı(t)

1
=

1

−ı(t)
=

1

i(1)
=

1

i(t)

for which sin t = 1
i(t) .

c · n = nc(2)

Φ(n ∈ N) =

√
tan cos

−n′n
n +i sin(x)

n

sin(n) + tan(n) =
√

2 sin(a) cos(a)

and
m ·n = ΩΛ

→ ⊔n
→
∑
n∈Rn·C

∑
m∈Rm tan

(
sin(−1)
Φn(n)

)
· (Φm ∩ Φn)

→
∑
n∈Rn·C

∑
m∈Rm·C tan

(
sin
(

−n
Φn(n)+Φm(m)

))
·
(

Φn

Φm

)
→
∑
n∈Rn·C tan

(
sin
(

−n
Φn(n)+Φm(m)+c tan(sin(nm))

))
·
(

Φn

Φm

)
→
∑
n∈Rn·C tan (sin (−n)) ·

(
Φn

Φm

)
→
∑
n∈Rn·C tan (sin (−n)) ·

(
Φn(n)
Φm(m)

)
→ sin(n) + tan(n) + φ(n) + sin(n) = 1,
Φtann(n) = sin(c)− x

x−1 + sin(n tan(n))

14



˚√−n = −
√̊
n

∫ r(r1)
r(r)

r1 · Φ(t)
− r(r1)

r(r)

∆Φ(n) =
−1 · Φ(x)
tanΦ(x)−1

· 1

Φ(
√

Φ(x)Φ(tan(n)))

(
2 ·
√
Φx− n · c(1− Φ(n))

n

)
applying to above hyperbolic identities:

tan

(
−n

Φn(n) + Φm(m)

)
= −n

tan

(
−n

Φn(n)

)
= −n

tan

(
−n

Φ2(
√
n) + Φ2(tan(n))

)
= 1

tan

(
−(1− x)

Φn(n) + Φm(m) + c tan(sin(nm))

)
= x

tan

(
−(1− x)

Φn(n) + Φm(m) + c tan(sin(nm))

)
= x

fr(Ψ(p)−1, q−1, fr(A)
−1, fr(B)−1) = A×B × Φ(p, q)Φ(nm,mn) + c

n

p
=

1

n
·
√
Φ(mn) ·Ψ(nm) · fr1(B1)(n

m, B1b1)

nm

pp
=
√
Φ(mn) ·Ψ(nm) · fr1(B1)(n

m, B1b1)

f(},Φnp ) = Φnp},Φ−n
m

2 x
√
tan (x) =

−x
x− 1

√
n
√
sinx · erf(x) = sin(n−1) ·

√√
n

∫√sin(t)Φ(x)

e−n cos(s)
dx
x = Φn−

√
−x(t)

∑
Φn∈t

∑
Φm
→
∑

tanΦ
−
√

−x
n,m

·

sin
(
tanΦn(t) + Φm(t)− x

√
Φ(x)

)
→
∑
n2 ·Φ(tnp−q)
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fM (fi(t)) = fM (Bh(m)(Bt(x),Bm(y),Bn(z))),∃i ∈ Z∀i ≤ ∞∧ 0 ≥ n

Where the above corresponds to an approximation to a desired function f ,
given by

f(1 + tan(t⊗⊒))+f−1(ft(n)) = f1(t
−k, t−m, t

sin(−k)
sin(−m) , t(sin(−n) tan(sin(−tk))

f(tk, tm, tn) = tan(Φm(sin(n ·Ψ−tn)))+Φm(tan(n ·Ψ−tn))+ftkftm+tn
(tk, tm, tn)

f(m,n, s) = f(mn +mm +mp+q + ⌊tk&m
(t),mn,mw, t

k, nm)

f(t) = ∇ → ≀p⊔(t) +⊒p⊔(m) + ≀p⊔(n)

∫ exp x

1

dx√
b tanhx− a sinhx

=

(
π + 2arctan

(√
b sinhx

a sinh−x

))
·

fT (Tp,q) = fn, t(T2 + T1,4, tan(Φ2(2))) ◦ T+Φ(2)(Tp,q)
c

fc(OMp,q +OMp,q ·A2+2 + F(m,n, p)− G(m,n, p))+

fc(OMp,q ◦A) + fpq
(
fdb[m]c + fdb[n]

c, fdb(2)
−1 | · · · → Φ2(2) · 2 · 2

Φ(tanx) = tanhx Φ(ct) =
√
π◦tan

(
sin
(
sin(x) + ϕ1−n · x

n
+ tan(2ϕ2−n)

))
Φ(n) n

√
e

Φ(x) +m′Φ(n) = Φ(ρ tan)

ftx=m,ty=n(x, y) =
8
√
x cos

√
x

8 sin
√
x

m
√
kp + kq +Ψ(sinh(m,n, p, q, r))− n

√
sinh(m,n, p, q, r)

b(a,y,x)
c(y,x)

C̊ → V → logic class vector

fT (Tp,q) = f(tan(x),tan(y)),I(x
2, y2),∀x ∈ N∃x ∈ Q

C → V ≡
(
tan(x+ arccos(y)), tan(x+ arccos(y)), tan−1(x+ y)

)
x+ n+m =

cos(x)

sin(y)

n
√
x · Φ(tn) + cΦ−m(n) = fm(1− t)

fn,m =
mn

nm

16



n
√
x · Φ(tan(n)) + cΦ−m(n) = fm(1− t)

Extending tp to t′p results in a new generalization of sin yielding a new class
of sequences having phasic-tonal properties noted by Penrose (1996). According
to Joy, Noyce, and Dworetzky ((2018), the sine wave generation can be defined
as:

tp = sin(exp(1− n))− tn, tn =
∑
j→∞

1

j

t′p = sin(exp(1− n+m))− tn, tn =
∑
j→∞

1

j

We can replace tp with te to compare:

te = exp(sin(1− n))− tn, tn =
∑
j→∞

Φ(tn
n

) =
∫
sin tnn−1dt

fr(t
n) = Φr[m] · fc(n)t

Φ(tn) = tn+tan(tn)
tn−tan(tn)Φ(t

n)n

= tn+tan(tn)
tn−tan(tn)Φ(t

n)n−1

Φ(x) = sin(x) = (1 + c)tanh(x) − 1

f(x) =
1

1 + Φ(x)
− tan

(
−Φ(x)√

2

)
+ tan

(
Φ(x)

Φ(1)

)
+ cot

Φ(x)

Φ(1)

fm(x) = c(xn) ◦ tan tan sin

(
− x

Φ(x)√
cos(Φ−2(m))

)
·
∫

sinΦ−1(tan(ex))

Φ(x) =
1

1 + Φ(x)
− tan

(
−Φ(x)√

2

)
+ tan

(
Φ(x)

Φ(1)

)
+ cot

Φ(x)

Φ(1)

fm(fr(x)) =
Φ(tm·fr(ni))

Φm−1tm·fr(ni) + sin(m · fr(ni)
c′(t)m−n

f(x) =
f(x+ b)− f(x)

b

f(p, x) =
Φ1(t)

fc (Φ1(t) · Φ2(t))

17



Φ2(t) =
1±

√
1

p+Φ1(p)

tanΦ2(n+mq−1m)− cot(x) + cot(Φ2(2πx | η ◦ Φ(x)))

fc(t
n) = fm(t−n)− c

f(x)± 1− Φ−1(xtan tanΦ(xnx ))√
Φ−1(xtan tanΦ(xnx ))

=
1− Φ−1(xtan tanΦ(xnx ))√
Φ−1(xtan tanΦ(xnx ))− xmm

Φ(t)m−1 = tan

(√
cos tm

sin tm−n

)

fc(n
t) =

fm(nt)− fr(fr(nt))
Φ(t)Φ−n

Ψ = Ψ(nc) ⋆Ψ(mt) · Φ1(n ·m) · sinΨ(tn)

fc(fk(n
t)m) = Φ−1Φ(tn) · Φ1(x), n ≤ m

fm(fk(n
t)k) = Φ−1Ψ(tn) · Φ2(x), k ≤ m ∧m = n ∧ k ≥ 1

fr(t
n) = Ψn−kΦ(tn) · Φ3(x), n ≤ 2 · Φ(m)

1 + e−ct + ect = 1 + tan−ct+ tan ct

∫
e−ax

2

cmx
2a−1(n−xx) =

Φ(ta)

Φ−1(c(mn−a))
fc(n

mt

) =
Ψ(tn)−k ◦ Φ(x)

Φ(tn)k
r1(n

mt·nj ) =
Φ(tn)k ◦Ψ(x)

Φ(x)k
r2(n

mt·nk) = Φ(sin(t−x) + nm
−c

)− Φ−1(
√
xm)r3(n

mt·nk
mt

)=Φ(tan(t−x)+nm−c−k
)−Φ−1(tan

− 1
Φ(n) (xm))Φ(nk−n)=tan

(
√

2Φ−1(
√

m)

tan tan(tn)

∫ sin(x)

1
Φ−1(x)

tndt

)
Φ(tn)=Φ−k

(
1

tan(Φ−1tx)

)
Φ(t2n+m)=Φ−k

(
tan(Φ−1tx)

tan(t2n+m+Φ−n(sin x))

)

Φ−1
√
Φ(tn0) · Φ(tn1) · Φ(tn2) · ... =

Ψ(t−m)Π(tn · tmb

) + Φ(x−n)
Ψ(tn)Π(t−m·tmb )+Φ(x−n)◦

∑
n→∞

cn−1
n

z = a+ b+ c

f(xj , yj) = ab ·
x1(y

b
1 + xm+n

l ) + yb2 + a

xb(yb1 + xm1 + xn2 ) + yb2 + xb
· a

(al + 1)

f(xj , yj) = ab · x1(y
b
1 + xm1 ) + yb1 + a

xb(yb1 + xm1 + xn1 ) + yb1 + xb
· a

(a+ 1)
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f(t) = Φ(tn · tt
x

) +
c

n
, n = −t+m

How far given a function ‘g‘ or ‘x‘ or ‘y‘ or ‘r‘ or ‘z‘ or ‘l‘ or ‘p‘ or ‘f‘ or ‘w‘
or ‘h‘ or ‘d‘ or ‘k‘ or ‘i‘ or ‘j‘ etc... From the map fi 7→ {ϕ,Φ(n)}, we can derive
fi for instance.

fG(n, sin (t
2)) = Ψ(sin (t2))+tan

(
−Ψ(sin (tn))√

2

)
+tan

(
Ψ(sin (tn))

Ψ(sin (tn+m))

)
+cot

Ψ(sin (tn))

Ψ(sin (tn+m))

fG(n,Φ(t
nc

·Φ−2(tn))) =
Ψ(sin (tn)) + tan

(
−Ψ(sin (tn))√

2

)
+ tan

(
Ψ(sin (tn))

Ψ(sin (tn+m))

)
+ cot Ψ(sin (tn))

Ψ(sin (tn+m))

tn+tan(tn)
tn−tan(tn)Φ(t

n)n−1

i−1Φ(c) = −i(t)2 − i(−t)2

−ı(t)2 − i(−t)2 = c−1

(∞) Any given group of neopsilocybin molecules, as they are understood by
a set of given inductive functoids:

†′(x) := ∇ [⌈(x) (⇕(x)− ⌋(x))]

and

†′(x) := †(x)
(

⌈(x)
⇕(x)− ⌋(x)

)
and for the gradient based on displaces in the vectors, as with a finite element

method,

∇ =
∂y

∂t
=
∂x

∂t
+ 1

Such that †(x), ⌋(x),⇕(x) are the total, free and meshwise amounts of molecules,
respectively. ⌈(x) is the amount of displacement in logical coordinates of the
molecules mi(x) exists in Φ(1), and as such, the displacement of any mi(x) is
given in terms of the total amount of Φ as it exists in each of the faceted hj(x)
of the given mi(x) of the finite element method:

x := y + yThj(Φ(1)) → Rj

And, thus,

†′(x) := x := y + yThj(Φ(1)) → Rj

Such that the displacement of anymi(x) is given in terms of the total amount
of Φ as it exists in each of the faceted hj(x) of the given mi(x) of the finite
element method:
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∇y := ∇x+∇hj(Φ(1))→ Rj

Consider the following examples of finite element analysis of certain sets:

p(t, h, tj) = t ◦ tan[h(Φ(n))] + tm−j
m⋄ m
√

Φ(n)

→ ∂ :◦⋄→∞→
[
∀∆(x)·

∑[
n

∣∣∣n k
√

∆+tan(n−x)∆+∆−k

∣∣∣]]≫[∀∆·
∑[

∆
n
−k +∆−k

]]
≫
[
∀∆(x)=

∑[
(−∆− i)−k + i(−i− k)−i

]]
≫ ∀∞[−k], x > (nn

n+n∞
)R =→ x > ()→∫ x

1

e−t
2

dt =

√
π

2
(1− erf(x))

x > nni
i n

tiññ

n n−n
−nnn

n
tj
j := X > tx∇xt

x

fij(t) := L(RnCn)∑
(Ω)(Θ)

n∑
i=1

xi +
Πni= n

n′
Φ(x)

Φ(n)nn

xi
n
√
n+ |n!n|

Φ(x) + Φ(x) · Φ(n)

κ tan(x) · sin(n)− Φ(t){
π t

∥∥∥∥ Φx
sinΦ(t)

∥∥∥∥}
tl(x) + cos(Φ(n))

exp(t : n→ R) tan(Φ(n))

Φ(n)
Φ(n)

Φ(n)
Φ(n)

tr(n,m) + cos(Φ(n)) tan(Φ(m))

π(n) π(Φ(n))j +
n

m
csc2(π(n))

∂(X)(Ψ(x) · tan(Φ(n)) + n−n
n

exp−x tan(Φ(n)) (π(sin(n)))

csc(Φ(x)) tan(Φ(n)) + t(n)∞ß∞∞
expn

Φ(x)
−
√

Φ(x)
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x

x
1

n
sin(Φ(x)) + cos(x)

1n · i
i

i
exp(n) + nn∣∣Φ(1)− Φ1

∣∣π(π〈Φ(1)〉n) : ∣∣di − dnjΦ(n)∣∣
xΦ(x)→∞

nnnn

+Πmj=1

∑
m=1

+Πmj=11
1 = − = 1 = − = 1 = − = 1 = − = 1 = − = 1 = − = 1 = − = Πmj=1 = 11

⋄α1(n, x)→ (γn(α1(n, x)) + δ(n) · α1(n, x)) Φ(n)∑
v

∑
Φ(n)−nΦ(2n)

xn

A(ai(r))→ n

(∑
n

{ai(r)}−n
−nnΦ(n)

)
(b(r))

∀An : − = An−1
n−1 = An ∪Bn ⊆ An · χ(2n) ⊆ Zn

=
Φ(n)

nn
(ωn,i(ai(r)|− → ∞)) sin(Φ(2n)) · ∂x[Φ(n)]

∂x∣∣∣∣∣∣∣∣∣∣∣∣∏∞
i∈{0→R[x,t]}(Φ(ni + ni+i +Φ(x) · Φ(t)))

∣∣∣∣∣∣∣∣∣∣∣∣√
Φ(x)

+
∏

i∈Πi∈FJ k

nx
xxxx

ly:C(ω(u, z))ΞΦn
Ω⋄

Φ(n)+
∂Φ(x)

Φ(x)∂Φ(x)
+Φ(x) :

∣∣exp(n) csc2(π(n))− π(n)∣∣− Φ(n)

nn
√
sin(π(n))∫

Φ(x)dx+Φ(t) exp(t) := tn
n

(x)∫ ∞

0

ln
α

−n Φ(t)dt

tanx·sin
(
−Φ(x)

Φ(t)

)
exp (Φ(x)) :=

1

1− Φ(x)Φ(t)
:= tan(x)−exp(x) sinh(x) (ln (Φ(x))) : Φ(x)

Φ(t)
= cc∫ x

0

e−t
2

dt := Φ(x) +Φ(x)Π
R[x]
i=∞

(
x−x

)
f(t | Φ(x)) :=

c∏
i=1

xn ·
R[n]∏
i=1

n−n
c

·
c∏
i=1

sn (τ(t)) + nn ◦ xx +Φ(n)→ 1

1− t
lg (Φ(t))
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